6. R M E

TR B E R R

®6-1 MIAIRBEMFDOERBESTHIREE (ERH29F4R85)

B E AR SERR29FE4 A 198

REREE 0.116 0.399
- BW_ELE 0.103 0.331
T INERR 0.105 0.342
ERER PP A 0.119 0.415
RHGREE 0.114 0.389
e HHRINERR 0.099 0.310
R A 0.125 0.447
Ep ﬁ/ﬁﬁﬁ:&%? 0.114 0.389
B iR 0.105 0.342
&R 0.121 0.426

#6-2 MIRENFOEMBSHRER(FH29F5R5)

AIE R FRH29E58228

NN = ERREER BIEIEREEE
S it (uSWB?Féi) (mSv/ﬁ% =
=ERBE 0.133 0.489
" ERHHE 0.116 0.399
R ] —
BER/DER 0.120 0.420
RE AR 0.142 0.536
KRRBEE 0.112 0.378
ERCELE 0.129 0.468
it = e
= MR /NER 0.129 0.468
ZR R 0.142 0.536
T &al 0.115 0.394

®6-3 MIIRBEMFNERMESHREE (FRH29F6R%5)

BIER: FR295E68268

NN TRIGER EMBE R EE
= Led eS| (msw)
HECELE 0.105 0.342
BER AN 0.099 0.310
HE PR 0.160 0.631
BB ELE 0.111 0.373
ARAB —
A AIesl= oy 0.098 0.305
GileRi:1l 0.118 0.410

64

THREE | BMREKREST
(1t Sv/ RS (mSv/4E)
iy 0.112 0.378
=X 0.125 0.447
=/ 0.099 0.310
GE)RBFT. $HI#E. /NFERIF0.5m,

FEER, MTERNIEESIMTHIE
1000 4 Sv = TmSv

TRIGEE | BIRREE T
(1t Sv/ R (mSv/4E)
iy 0.126 0.452
=N 0.142 0.536
=/ 0.112 0.378
GE) B M. DR, NFRIL05m.

PER. TFEHIEESImTHRIE
1000 4 Sv = TmSv

TRGEE | BIRIRERE
(1 Sv/EERE) (mSv/4E)
iy 0.115 0.394
=K 0.160 0.631
=/ 0.098 0.305
GE)RBFT. $HI#E. /NFERIF05m,

R T ERIEESImTAE
-1000 £ Sv = 1mSv




